
  
  
  
  
  
  
  
  
  
  

 

   

––

 


 
  
  

 

- 
الرقم ي   ىالتطویر والتنفیذ الناجح لنظم إدارة المحتو ىمن العوامل التي تؤثر عل كثیرھناك 
المادیة والتقنیة و البشریةلعوامل التنظیمیة والرقمنة بالبیئة المصریة، مثل ا بمشروعاتالعربي 

ة ی  ة المس تخدم النھ ائي ف ي تط ویر كفا    ، ومن أھم العوامل مشارك)١(جدول رقم الیوضحھا كما 
فش ل تط ویر نظ م     ىللتغل ب عل    المھم ة وتعد مشاركة المس تخدم أح د العوام ل    . وتنفیذ تلك النظم

لت زام المس تخدم، وتجن ب مقاومت ھ، وتؤك د      االرقم ي العرب ي، نظ راً لأنھ ا تحق ق       ىإدارة المحتو
  .أن متطلبات المستخدمین تمت مقابلتھا ىعل


















 


 
 
 

  ∗النقیبمحمود متولي 

∗ 
 



  
  
  
  
  
  
  
  
  
  

 

  

––









  
 

 

    


 


 


 
 


 


 


 


 


 



 


 


 


 


 


 


 


 


 

 


 



 


 

 


 


















  
  
  
  
  
  
  
  
  
  

 

   

––















 























 











 


















 



  
  
  
  
  
  
  
  
  
  

 

  

––

- 


 
- 




 
- 


 

- 
 

 - 


 
- 
- 


 

- 


 
- 




 

- 





 
-  








  

-


 


 


 
-






  
  
  
  
  
  
  
  
  
  

 

   

––




 






 






 

-


 


 


 
-




 




 



 

-


 



 


 

-


 


 


 
-


 



  
  
  
  
  
  
  
  
  
  

 

  

––


 


 

- 
- 




-
-




 

- 












 

- 





 
- 





 

- 








 
- 











  
  
  
  
  
  
  
  
  
  

 

   

––





 

- 












 

- 











 

-  
 - 
















 

- 
Non Probability Sample








 

- 
 



  
  
  
  
  
  
  
  
  
  

 

  

––







 
- 











 
- 

CMS



 

-
DAR







DAR



































  
  
  
  
  
  
  
  
  
  

 

   

––

DAR

















 



 (CultNat) 

IBM 



 IBM


 IBM 
 


 

 




 





 
 

 .

 





 


 








  
  
  
  
  
  
  
  
  
  

 

  

––


. 























 

- 
































 


 


User Participation



  
  
  
  
  
  
  
  
  
  

 

   

––

User Involvement
 

 
McGill &Klobas




 


Torkzadeh & Doll



 


Barki & Hartwick









 

- 





 

- 





 


Butler & Fitzgerald






 





 


 
• 

 
• 

 



  
  
  
  
  
  
  
  
  
  

 

  

––

• 


 
• 


 

• 



 

• 


 

• 



 

• 


 

• 


 


 










 









 













  
  
  
  
  
  
  
  
  
  

 

   

––


 







 
 ىدورة حيــــــــــاة تطــــــــــوير نظــــــــــم إدارة المحتــــــــــو: أولاً

الرقمي 





 
- 


 

- 




 

-  
-








 
-




 











 

- 






 



  
  
  
  
  
  
  
  
  
  

 

  

––

- 



 

-


 
-




 

-
 

-





 

 

 
 
 
 
 
 
 
 

 


 



  
  
  
  
  
  
  
  
  
  

 

   

––

 
 

   
  

 
   
   
  

 
   
   
   
   
   
  

 










 
  :البرامج الجاهزة: ثانياً








 

ــاً ــو : ثالثـــ ــور والنمـــ ــتراتيجية التطـــ ــميم  /إســـ التصـــ
  :التجريبي









  
  
  
  
  
  
  
  
  
  

 

  

––







 
ــاً   ســـتراتيجية التطـــوير بواســـطة ا ســـتخدم   إ: رابعـ

  :النهائي



 

 






 






 












 


 





 

- 
 

- 
 

- 
 

- 
 

- 



 



  
  
  
  
  
  
  
  
  
  

 

   

––

- 
 

- 


 



 

- 

















 

Yeh & 

Tsai








 


Rondeau, Nathan & 

Vonderembse








 















  
  
  
  
  
  
  
  
  
  

 

  

––






















 
 Wu & 

Marakas



 
















 
- 




 
- 




 
- 







 







  
  
  
  
  
  
  
  
  
  

 

   

––





 

- 
 














 
 
















 

 
Validity

Reliability 



















 


 

Cronbach Alpha



  
  
  
  
  
  
  
  
  
  

 

  

––





 

 
















 

  :ا تغيرات ا ستقلة: أولاً

















]

 [


 

 
  

  

  

  

  

  



  
  
  
  
  
  
  
  
  
  

 

   

––

  

  

  

  

  

  :ا تغيرات ا وقفية: ثانياً 





 
 -





]




[











 

  

  

  

  

  

  



  
  
  
  
  
  
  
  
  
  

 

  

––

- 













]



[






 

 
  
  
  
  
  
  
  
  
  
  
  

 


 

-







  
  
  
  
  
  
  
  
  
  

 

   

––


]


[









 
 

 
 
 

 

 


 

 

 

 


 

 

 

 

           
 

 

 

 

             
 

 

 

 
 
 

 



  
  
  
  
  
  
  
  
  
  

 

  

––

 -









 
 

          
          
          
          

-















 

 
          

          

          

          

          

          

          

          

          



  
  
  
  
  
  
  
  
  
  

 

   

––

  :ا تغيرات التابعة: ثالثاً
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 

         
         

 -







  
  
  
  
  
  
  
  
  
  

 

   

––








 

 
         

 
         

 



 







 


 


 
 

 
















 
 


 

- 





 



  
  
  
  
  
  
  
  
  
  

 

  

––

- 
Cronbach's Alpha


 

- 


 
 - 


 

- 





 
- 

 






SPSS










 

- 


 








 
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 



  
  
  
  
  
  
  
  
  
  

 

   

––

 
 

  
 


 

 
 

      
      
      
      
      
      
      
      


 














 

 
 

  R  
     

    
    
    
    



  
  
  
  
  
  
  
  
  
  

 

  

––











 




 

 
 

  R  
     

    
    
    
    













 





 
 

  R  
    

    



  
  
  
  
  
  
  
  
  
  

 

   

––

     

    
    
    

    









 


 















 





 





 
 

 

 


 


R 


R2 

 

 

  


 

 


 

       



  
  
  
  
  
  
  
  
  
  

 

  

––

 
- 





 

- 





 
-







 









 





 
 

 


 


 


R 


R2 

 
 


 

 
 
 


 


 


 

       

 
 -  





 

 - 




  
  
  
  
  
  
  
  
  
  

 

   

––


 

-






 





 






















 








 










 

 



  
  
  
  
  
  
  
  
  
  

 

  

––

 
 

 
 

  
   

   
   

   
   

   
   

   
   

 
 - 





 

- 



 
- 






 
- 




 
- 





 



  
  
  
  
  
  
  
  
  
  

 

   

––

- 



 

 - 








 

- 








 















 











 

 
 

 
 

  
   



  
  
  
  
  
  
  
  
  
  

 

  

––

   
   

   
   

   
   

   
   

 
- 




 
- 



 

 - 



 

- 



 

- 




 

- 



 
 - 









 



  
  
  
  
  
  
  
  
  
  

 

   

––

 -





 

















 




 






 

 
 

 
 

  
   

   
   

   

 
- 

 




 



  
  
  
  
  
  
  
  
  
  

 

  

––

- 





 
 - 
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   

   



  
  
  
  
  
  
  
  
  
  

 

   

––

 
 - 




 
- 





 

- 





 

- 









 





 






 





 






 



  
  
  
  
  
  
  
  
  
  

 

  

––

 
 

 
 

  
   

   
   

   

 
- 





 

- 





 
 - 





 

- 









 



 







 



  
  
  
  
  
  
  
  
  
  

 

   

––

 
 

 
 

 

 

   
   

   
   

 
- 





 

- 





 
- 






 

- 





 





 




 



  
  
  
  
  
  
  
  
  
  

 

  

––



 

 





 

 
 

 
 

  
   

   
   

   

 
 - 




 
- 





 

- 





 
- 








 






  
  
  
  
  
  
  
  
  
  

 

   

––


 







 

 
 

 
 

  
   

   
   

   

 
 - 




 
- 





 

-  





 
- 





 





 



  
  
  
  
  
  
  
  
  
  

 

  

––






 


 

 






 

 
 

 
 

  
   

   
   

   

 
- 





 

- 





 

- 




 

- 




  
  
  
  
  
  
  
  
  
  

 

   

––







 





 







 
 

 

 
 

  
   

   
   

   

 
- 




 
- 





 

- 






 



  
  
  
  
  
  
  
  
  
  

 

  

––

- 








 





 





 




 
 




 
 

 

  

 

 


 

     

     

     
 

- 
 

 - 








 
 - 








  
  
  
  
  
  
  
  
  
  

 

   

––













 



 

 
 

  

R2 

 

 

     

     
     

 
- 

 
 - 








 

- 
















 
 




 



  
  
  
  
  
  
  
  
  
  

 

  

––

 
 

  

 

 

 

     

     
     

 
- 

 
- 









 

- 

















 





 

 
 



  
  
  
  
  
  
  
  
  
  

 

   

––

 
 

  

R2 

 

 

     

     
     

 
- 

 
- 









 

 - 
















 

 



 

 
 



  
  
  
  
  
  
  
  
  
  

 

  

––

 
 

  
  

 
     
     
     

 
- 

 
- 










 
 - 



















 



 

 
 

  

R2 

 

 

     

     
     



  
  
  
  
  
  
  
  
  
  

 

   

––

 
- 

 
- 










 

-
















 
 




 

 
 

  

 

 

 

     

     
      

 
   

 



  
  
  
  
  
  
  
  
  
  

 

  

––

-
 

-









 
-

















 




 
 

 

  

R2 

  

     

     
     

 
- 

 
 -













  
  
  
  
  
  
  
  
  
  

 

   

––


 

-















 
 




 
 

 

  

 

  

     

     
 

 
   

 
- 

 
- 








 

-







  
  
  
  
  
  
  
  
  
  

 

  

––











 




 

 
 

  



R2 

 

 

     

     
     

 
- 

 
- 










 

 - 














 



  
  
  
  
  
  
  
  
  
  

 

   

––





 

- 
- 
















 
-  

  :النتائج: أولاً
• 

























 

• 












 



  
  
  
  
  
  
  
  
  
  

 

  

––

• 











 
• 





 

• 









 

• 








 

• 





 
• 
















 

 


 



  
  
  
  
  
  
  
  
  
  

 

   

––

• 














 
• 














 
• 










 
• 














 

• 








 



  
  
  
  
  
  
  
  
  
  

 

  

––

  :ةاقتراحات لدراسات مستقبل •
• 



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